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sEXNTDeL =4 949,315 922,591 26,724
= 122,770 122,770 0
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O & 2 -1,100,000& 21,100 0 21,100
ANEZE mAZe 20,554 21,200 646
201 g2l 20,554 21,200 A 646
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OOl AR 2t N -630,000& A630 0 A630
24z B4 29 NI 8,340 11,000 22,660
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ONBHUE2Y AAE 20,000, 0002 20,000 25,000 5,000
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oY xz2 1,200 0 1,200
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30,000 30,000 0
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SAZ JIEXEA 29 69,612 71,100 £1,488
201 ger2 gl 39,612 41,100 ~1,488
01 AFR2r2lHl 4,692 5,100 £408
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02 ZB2Hl 34,920 36,000 £1,080
OOl A E 2o ~1,080,0002 £1,080 0 A1,080
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09 BAAHIZ &S 1,800 2,000 £.200
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201 Yer2 Y| 1,840 2,000 2160
01 ALRZr2IH| 1,840 2,000 2,160
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01 2U407Hl 900 1,000 2100
OO & E 240 ~100,0002 2100 0 A100
301 YA 1,800 2,000 £200
09 S AtAHIE A 1,800 2,000 £200
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SoA M A 521,295 523,665 £.2,370
22,220 22,220 0
499,075 501,445 £2,370
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